
green 

Use the long method to answer these questions 
Activity 1 Activity 2  

A. 12 x 5 = 
B. 22 x 4 =  
C. 88 x 5 =  
D. 74 x 6 =  
E. 51 x 4 =  
F. 81 x 7 = 
G. 12 x 2 =  
H. 33 x 3 =  
I. 9 x 77 = 
J. 8 x 67 =  

Sweets cost 7p 
 
A. Kelly wants to buy 21 sweet how much will it cost 

her? 
B. Rory wants to buy 25 sweets how much will it cost 

him? 
C. Katie wants to buy 15 sweets how much will it cost 

him? 

  

 

 

 

Use the long method to answer these questions 
Activity 1 Activity 2  

K. 12 x 5 = 
L. 22 x 4 =  
M. 88 x 5 =  
N. 74 x 6 =  
O. 51 x 4 =  
P. 81 x 7 = 
Q. 12 x 2 =  
R. 33 x 3 =  
S. 9 x 77 = 
T. 8 x 67 =  

Sweets cost 7p 
 
D. Kelly wants to buy 21 sweet how much will it cost 

her? 
E. Rory wants to buy 25 sweets how much will it cost 

him? 
F. Katie wants to buy 15 sweets how much will it cost 

her? 

 


